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POPULATION AND SOCIAL CHANGE (NON-FINALISTS)

________________________________________________________________________________________________________________________________________________

Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________
 1
 
To what extent can the British mortality decline be attributed to improved nutrition?

________________________________________________________________________

 2 
Discuss the possible roles of economic, cultural and technological changes in the explanation of the fertility decline in Britain in the late nineteenth and early twentieth centuries. 
________________________________________________________________________

 3 
  In what ways did age at marriage and celibacy play important roles in population change in Britain during the seventeenth to nineteenth centuries?
________________________________________________________________________

 4 
  If cohabitation and remaining single are of growing acceptability, does this imply that marriage is of declining significance?
________________________________________________________________________

 5 
 Does the tendency towards homogamy necessarily justify the argument that heterogamy causes marital problems?
________________________________________________________________________

 6 

Is the fertility behaviour of women in contemporary Britain determined by constraints to a greater extent than by choice?
________________________________________________________________________

                                                            /continued.....

1

SO 3263

________________________________________________________________________

 7 

Is teenage pregnancy in contemporary Britain a ‘problem’ that necessitates a diverse range of policy responses?
________________________________________________________________________

 8 
To what extent are academic and media discussions of changes in marriage and the family in Britain over recent decades a reflection of changes in the institutions/relationships themselves?
________________________________________________________________________

 9 

Why have therapeutic and legal interventions into marriage and the family become more prominent over recent decades?
________________________________________________________________________

10 
How important is social and historical context to the explanation of the separation or divorce of a specific couple? 
________________________________________________________________________

11 

To what extent does characterising the situations of formerly married people as negative ignore the diversity and complexity of their lives?
________________________________________________________________________

12 
Why are stepfamilies expected to experience problems?

________________________________________________________________________

13 

To what extent can internal migration in contemporary Britain be explained with reference to the labour market?
________________________________________________________________________

14 

Why do different less-developed countries continue to have different patterns of mortality and fertility, and why do these also differ from the patterns in developed countries?
________________________________________________________________________

15 

Can the success of national population policies ever be guaranteed?
________________________________________________________________________

16 

Do suicide and lung cancer mortality need to be understood before they can be reduced?
________________________________________________________________________

17 

Is the extent of the problem posed by Britain’s ageing population sometimes exaggerated?
________________________________________________________________________
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